September 20, 2016

Exam 1
MAC 2312-CALCULUS IT, FALL 2016
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7. There ig scratch paper at the end of the eXam; you may also yge the backs of pages
or get more scratch paper from me,

8. You may need the following trig identities:
cos(20) = cos*(4) — sin®(4)
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(¢) Evaluate /

e cos(z) dz. (15 pts)

SOLUTION: u= 5 V= Snx
Co X {
W =< Viz CoSx
X . AP
> fe CasX O\X = QK SiNX *J‘e SINX dx .

b

| W g V= -CosX
|

wel Viesinx
= fQ wncr o i ):«excosx - Fﬁxcosx olx j
~> ggcosx&x: e sinx + QYCOS\( - f@YCOS X olic
= Z&XCGSX&W ¢ “stewt eaos X
= yﬁxﬁsw o= 5(~ (Q

“Sink £0 oy "




2. (a) (15 pts) Compute
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You may use the fact that / secddf = Ip fsec O + tan 0]+ C.
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Part (b) is on the next page
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(b) (5 pts) Use part (a) to find

z
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Hint: Don't compute both (a) ang (

b) from scratch; that takes way too
much time.
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Part ( b)

is on the next page
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